TH2FEE-S) T BEMTHRBHRE T2

[12] 7 v v = - KE (pglL)

KB

Wb (A< : 138O O Ll
i HH A=) 13/49(K IS 0 e (T ST L
BB (R —2) 1349 % : 0) i—gg@ﬁ tr(?]'SA)
Fr T IRAE - 0.04 —
7 it FIRAE © 0.09 LN 16
e/ Ml nd
ﬂi—{jf/\jj: H iﬁj“ﬁ E SHI 5
N FEFA AR =5 R A i A 0 7E & (po/L)
. 1 | FBIITF 5 ARE IR nd
2 |wmFN DB ORE CRYET) nd
HARR 3 F =3 nd
AR 4 (BN JEET) 0.34
B R 5 |[ILBEE RS nd
K U 6 |J\ERIH nd
(L IR 7 |E B GE - 0.51
e Je I 8 |4k nd
IR R 9 |FIARJINIT O 2> DO KKE (Rl nd
A IR 10 |HJII (=R TH) 0.17
iy I 11 |FR)IEK » HEBOKE GEAT) 0.25
THE 12 [FERIT 0 (F2Ed) nd
S 13 |FRJIT A (JLEX) 0.86
14 [FEEJIRT A (HEX) 0.46
Rl 15 |Miuik nd
I i 16 | )11y 9 e i ] nd
B R IR 17 BRI i s nd
LR 18 [Afad@ T 1 Ak AE (a1 nd
)11 19 [B)IRT 0 (&3R) 0.50
e e I 20 |Eo)| = BiE (FE) nd
Eop IR 21 |GG 0.26
i o] U 22 |R®m)I (EmE) nd
5 IR 23 |&dhEE nd
—ER 24 |DU A ik nd
T 25 | FEEIHIE I o 0.26
TR 26 |EEk nd
T 27 |EEETE (LR nd
N 28 | KFJIRAT I (B 0.37
N 29 | KBR#k nd
e % [250L] nd
SR S0 Iy [50L) Stnd
o 31 [ e nd
R L R 32 |FLOJIT AR DO N KKE (Fdk L) 0.36
[it] (L1 U 33 (KB nd
. 34 (A nd
EER 35 NS nd
36 |fEILE nd
ITERp 37 |FEEnR nd
38 | Fkih nd
T R 39 |EWIRT O (TEET) nd
Bl 40 |EkEE 0.17
R 41 |5 E (M5 i) nd
EI I 42 [IRyEE nd
P R 43 |t B nd
Rl I a4 | KA nd
REA IR 45 [ (FEH) nd
B Ui U 46 [R3E)ITa (EiigT) nd
55 5 47 | KB (T hh) nd
48 | FH)IFEE (W5 & RS 1.6
PR IR 49 |BRFE P nd

(ED BHTHRMEI Eafb L L,
(#2) XIFBBEL L TH- T,

(73) Mgy [250L] o FEREIEX 0.001, & & FIR{EIE 0.004,
(74) W&y [50L] Rt FRME X 0.007, & & FFREIE 0.019,



